WA -zl 2025/4/26 TR AR Kih
B4 #68IEl H it 7 e ERti R TR S Ff DRITAEE B m 5 PP RE SRR E R (B LBt o)
4 FA ILAR — Y AR e Ei S it & s R N
F ke[ 4 HEs ke Eine B EikE R B aty PRk E g a2 o 4 H & ke LS s
B f+ f&H JTiva 20 R7\TA afr 5 A e 8L
w7 | 49960 L00m g BFE@G3) wll.81 (+2.1)|EAR E@3) wi12.19 (+2.1)|BE BE@Q3) w12.40 (+2.1)|/h 4k J2ZF(3) wi12.49 (+2.1)|FH #%=E(3) w1250 (+2.D)|/hNEJI BiR(3)  wil2.63 (+2.1)|EH £=FHQ) wi12.80 (+2.1)|[#E4 A FrE(2) wl2.88 (+2.1)
&)lF KA F fEs RS P Figeh FNF fEs
4A26H 200m g BFE@G3) w24.16 (+3.7)|f6A #5#E(3) w25.31 (+3.7)|EAR E@3) w25.58 (+3.7)|F%A HEHB) w2589 (+3.7)|AB BEER) w25.96 (+3.7)|itFE E(3) w26.32 (+3.7)|EE EEsERA(3) w2661 (+3.7)|HE #+(2) w26.93 (+3.7)
&)lh HeMES KA F SR RS LS HeMES NESS
4A26H 100m B £503) 57.04[5tR E(3) 58.50|F%A HEHE(3) 58.73|R1H 1&#B(2) 1:00.99|2H &FL@3) 1:05.04| BE AH#EE(2) 1:05.66|BrA  J&=(2) 1:06.88[;t10  EF(2) 1:08.45
LS LS SR NESS &)lh figeh KA F LS
4A26H 800m B £503) 2:06.32|m&  FEAER3) 2:13.76(#  FAHA(3) 2:24.29(3K  18E(2) 2:28.22| A HZ=(2) 2:28.45(FhH  BEH(1) 2:30.60|BE K#E(2) 2:31.63| £l BZE&(2) 2:34.99
LS KA F SR LS KA F RS figeh P
4A26H 1500m B BG) 4:23.42|ATF REQR) 4:2351| BB FRAEBB) 4:35.80|FER £ (3) 4:44.10138)11 TEFEQ) 4:52.06]/L 1&2H(3) 4:54.20|%F  BRABA3) 4:59.743HM 1&E(2) 5:02.29
P RS KA F RS RS SR SR LS
4A26H 2000m B BG) 9:58.93|mTF REEQ) 10:19.21|BR  #R(3) 10:25.94 /L #&24(3) 10:47.09|fE4 & B—(1) 11:12.91|3RA  Z=ZR(1) 11:16.80| &% M4 (2) 11:19.07 |4  Bm(2) 13:47.90
P RS RS SR HeMES RS NESS KA F
4A26H LLomi 1 IR I2ZE(3) wi17.78 (+3.3)| A &R (3) wi19.70 (+3.3)|EH  1B#8(2) w20.01 (+3.3)| KT SP#(3) w20.50 (+3.3)| B =HB(3) w20.57 (+3.3)| k&  K#b(3) w21.92 (+3.3)| 8 #1=(3) w22.36 (+3.3)
RS P P fEs fEs HeF ek
fE A 49.75|mEHRF 50.15 KR AFA 50.94| B & ME 51.27|fF4 51.85|ENEg 51.92[;Am A 52.62|B = 53.32
AT Q) AB BEEB®R) BRAs  HZ=(2) TeE  HE#E3) A &) BE CEBQ) aF AQ2) Bals —m(3)
4H26H | 4x100mR |BER EE(3) giE X—Q) BB RAEBQR) =R F203) LT KHE®R) EH EHQ) i [F(3) iE K#(3)
IR SHE(3) AR FEQ) aAR EQ3) B EE0) Fii BRER(2) mAs BE(3) 0 #BFE(2) Mk BEKX(Q)
AR FE(Q2) IR I2ZE(3) TR HFEQ) B BEHQ) FM HEQ) 8 ME@R) B £503) i &H(2)
4A26H - =R F203) 1.60[ K8 RE(2) 1.50[5+ #3(3) 1.45|AK  #HEH(3) 1.40|H8 E=HE(3) 1.25| k@ AHs(3) 1.25|1B4 F=E(Q2) 1.20
HeMES &)lF RS fEs fEs HeF s
4H 260 - FM HEQR) wbh.61 (+3.8)[/NEJIl FiMk(3)  wh.45 (+2.3)|@A BE(3) w5.29 (+3.5)|HE WE(Q3) w5.22 (+3.1)[ILTF  KHQ3) 5.07 (+2.0)|#ER E®Q3) 4.99 (+1.0)| sk EAX(2) w72 (+2.2) | #%(2) w4.72 (+2.9)
P figeh FNF FNF P fEs HeF HeF
4H26H — A BE(3) w1135 (+2.1)|4% MEQ) w10.84 (+5.4)|s1H X—(@3) wl10.65 (+3.1)| AR HHE(R) wl10.25 (+3.4)[5t #H©3) w9.67 (+4.8)[/vAIR £2(3) w3l (+4.9)|EF LK BE(2) w9.31 (+4.5) B4l —BR(3) 9.04 (+0.5)
FNF FNF RS RS RS fEs fEs HeF
4A26H o AE EEQ) 9.71|m 8 EAN(3) 953|140 HANB) 9.22|fEHE #51E(3) 8.52|1&)Il FEA(3) 7.49|FH £EQ) 7.47|@AH  KF(2) 6.98|#M E=EQ3) 5.96
NESS B+ P HeMES LS fEs P HeMES
4A26H Ry FH HEQ) 30830 HAM@B) 25984 =R=(2) 23.34|EF  K#(2) 20.07|H £ EE(Q2) 19.28| 2@ £ (3) 14.66|1&)11 =X (3) 13.90|5# #F&(1) 12.54
fEs P P P fEs HeF LS ks
P IS #E E=EQ) 37.02|H £ BEQ) 35.14F 8 1&31(2) 35.01| LA EF#REG) 32.96[/MT EFB=H(2) 28.47|5k@A EZE(2) 28.17|R =mAL(2) 26.52|F1H  BA2(3) 24.87
HeMES fEs NESS P HeF fEs fEs LS
@0 ik FYEF g1 |HF T 45| TEE so| FEHIES 405 |SPF 30| 35| T 315
400m Be Z=(3) 57.04
TR LS GR

w (wind assist) : IBJEE# GR=KFLEk




WA - REZ 2025/4/26 TR TEA Kt
R Ea T #68IEl H it 7 e ERti R TR S Ff DRITAEE B m 5 PP RE SRR E R (B LBt o)
4 FA ILAR — Y AR e Ei S Rk EAT R N
F ke[ 4 HEs ke Eine B EikE R B aty PRk E g a2 o 4 H & ke LS s
A £t f&H 142 241 3L afir 5L A (LA 8L
w1t | 45261 L00m B ERG) w13.25 (+3.9)[iEFH mMEX(3) wl3.28 (+3.9)|BE B0 w13.65 (+3.9)|f&F FEme(1) w13.69 (+3.9)|BE 1BE2(2) w13.70 (+3.9)|frh EH@Q3) w13.90 (+3.9) R ZH(3) w13.97 (+3.9)[% RRQ3) w14.12 (+3.9)
RS RS Figeh RS ENLS HeF ivias KA F
4A26H 200m = E) 28.87 (-3.0)|BE EXQ) 20.41 (-3.0)|Fk Frik(2) 30.02 (-3.0) 3R E Z=2ER) 30.19 (-3.0)|&E 1E£(2) 30.33 (-3.0)| A E=AE®Q) 3048 (-3.0)|EH ZE(2) 30.68 (-3.0)|&5E F%£(2) 32.56 (-3.0)
RS figeh RS fEs HeF faR FNF SR
4A%68 200m NE JE(2) 2:34.81|NE W (2) 2:38.87|@H  EF(1) 241141 k8 &R0 2:43.56|BO  EH#(3) 2:43.65|MF #Ih(1) 2:44.20|/h78 EFBE(3) 2:46.74|f0 S5\ (2) 2:47.14
HeF Vi HeF FNF RS ENLS ek P
4A26H 1500m AGEER E(1) 5:12.36|BF F#H3) 5:16.59|HO  EH#(3) 5:16.89[;t1M 5 (2) 5:23.74|F  ®T5(1) 5:24.49(f BZE(1) 5:27.44|F AR ZEH(2) 5:31.84|EF  FE#EE() 5:35.16
HeF HeF RS RS ENLS RS NESS HeF
AF 260 L00mi] PSR 324 F(2) wl16.27 (+2.4)|AH #3E(3) wl7.39 (+2.4)[(BH ™MHR@A3) wl7.91 (+2.4) A 2¥(3) w19.15 (+2.4)|fEHE  #50(3) w19.58 (+2.4)[BEH #«Fi(2) w19.67 (+2.4)|FR BEH(2) w19.84 (+2.4) )11 meF(3) w20.79 (+2.4)
KA F ENLS RS ek Vi RS HeF KA F
BERhA 54. 74| R A 55.12| KB A 55.55| & A 55.80[%= L 56.08[:& 57.36 |35 58.54| B &+ B 59.72
Bl RE(3) HE s 2) =R EREQ) =5 1852 Bi #%&03) NE BEQ) it 2E722(3) B 2R
4H260 | 4x100mR |EH  FWL(2) B ER®G) B IRWL3) T/ EEQ) KT EZ=Q) BE XH0) Al =80 WA FKQ3)
FiR  Frk(2) A& TE(3) FIlR %4 F(2) E K#(Q2) Al B WE % (2) 3 =) AR DHEL(2)
B MER(3) B k(1) 2@ #Z2(2) il EH3) BE H2Q) feHE  #00) RE F=EEQ) BH TEHA)
4A26H - BR EN03) 1.35[81L ®%R@3) 1.35|FxR EH@3) 1.30|2m #kZ2(2) 1.30[FAR =REA3) 1.25| £ R#E(2) 1LI5|AR DLHI(2) 1.05
FEFRE RS FNF KA F RS HeF HeF
L6 h i BE B2 4.69 (+1.8)|%F REWL(3) 458 (+1.0)|&HE FA(2) wh.46 (+2.8)|5& FF&(2) wd.34 (+2.2) | E 25L(3) w4.26 (+3.3)|Fx  £E=H(3) 421 (+0.7)|db1l #532(2) w4.20 (+2.5)|fBA  #0(3) 411 (+1.7)
ENLS KA F RS HeMES B+ FNF HeF Vi
4A26H o TR EEQ) 10.893R D JHME(3) 10.83|/h k. BE(3) 10.35|M7  #51(3) 9.82|AL FEH(2) 9.80[:E4 (2 8.79|lLA FE@3) 8.70|#MA  FMKR(3) 8.40
HeF faR KA F RS ENLS KA F RS HeF
4A26H R TR EEQ) 28.67|/h k. BE(3) 2351|1HAK £HTF03) 23.37)2H  E#EQ) 21.51|AF  RIRE3) 19.69MF  #E1R(3) 19.62[=3F  #R(3) 19.29|A0 E(2) 17.87
HeF KA F KA F KA F P RS FNF &)lh
P IS il EXEQ) 37.52|FAm  E(2) 29.55|F T EME®3) 28.50[ LA E(3) 27.66|FIL  BEE(2) 26.65|WFE % (2) 24.29|@ BZF(Q) 23.42|BE R¥E(2) 22.20
HeF HeF RS RS ENLS Vi RS Figeh
@ A cLA ga | P 65,5 | X 55 | RF 51| F sge| 7T 28| T 185| T T 148

w (wind assist) : IBJAZ %




